APRJC 2012(MPC) Question Paper

PART -1
Q. Booklet B
GENERAL ENGLISH Code

1. Hedidhis homework by .............
Choose the correct pronoun to fill in the blank.

(1) him (2) herself
(3) hisself ﬁ-ﬂ himself

2. Find the odd word out from the list of four words given below :
doctor, lawyer, engineer, cooker
(1) engineer ~,ffﬂ}l muker
(3) doctor (4) lawyer

3. Jivan said, "I have read this book."
The reported form of the given sentence is ...
(1) Jivan said that he has read that book.
(2) Jivan said that he had read this book.
/(3) Jivan said that he had read that book.
(4) Jivan said that I had read this book.

4.  Ashok is the boldest boy.
The comparative form of the given sentence is .......
(1) Ashok is boldest than any other boy.
v( 2) Ashok is bolder than any other boy.
(3) Ashok is more bold than any other boy.
(4) Ashok is more bolder than any other boy.

5. Heis very poor. He cannot buy a car.
The given sentences can be combined as ..............
(1) Thuugh he is poor he bought a car.
(2) As he is poor he bought a car.
(3) He is so poor but he bought a car. :
v(ﬁ-]' He is s0 poor that he cannot buy a car.

E-1 . (2]
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8. Heplaysthe violin ......... concerts.

Choose the correct.preposition to fill in the blank.

(1) to ! : (2) with

Jﬂ} at (4) in

7. Can you show me the way to the bus stand?

The given expression refers to the function of ...

(1) Making a suggestion (2)  Question

(3) Offeting help : ﬁiﬂ Seeking information

#

8. Sachin has created a new world record in cricket.
Passive form of the given sentenceis........
Vf 1) A new world record has been created by Sachin in cricket.
(2) A new world record had been created by Sachin in ericket.
(3) Sachin has been created a new world record in cricket.
(4) Sachin had been created a new world record in cricket. -

9. Raghu........... (come) to office tomorrow. :
Choose the correct form of the verb given in the bracket to fill in the blank.

V{l‘! will come (2) will be coming

(3) come ' (4) comes

10. The Kingis malicious. 'Malicious' means ...........

(1) kind #(E} desiring to dﬂ harm
(3) joyful (4) lovable
11. Which word is pronounced in the same way as 'battle”?
% 1) rattle (2) bundle
(3) mantle (4) bottle
E.1 [3] (P.T.0.)
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(12-18) Read the following passage. Focus on the given five blanks. They
represent five questions based on the passage. Questions appear after

the passage.
We took .......... (12) early morning flight to Delhi. .............. (13) Delhi, we stayed
in a hotel. We ........... (14) the day on sightseeing. The next day, .............
went to Agra. Later, we returned ............ (18) Delhi.
12. (1) the (2) no article isnecessary
(3) a V’fiﬂ an
13. (1) In (2) By
(3) On V@ At
14. (1) had spent (2) hasspent
(3) spent (4) spend
15. jl} they (2) I
(3) we (4) us
IMII to (2) over -
(3) in (4) into
17. Peteris........... European.
Insert a suitable article.
(1) the (2) no article is necessary
(3) an S a

Q. Bookle
Cnd: B

18. Swathi said to Prasad, "I want to become a software engineer."
The reported form of the given sentence is .. S
(1) Swathi told Prasad that he wants to l:recnme a ﬂz}ftware engineer.
(2) Swathi said that she wanted to become a software engineer.
) Swathi said to Prasad that she wanted to become a software engineer.
(4) Swathi told Prasad that she wanted to become a software engineer.

E-1

[4]
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19. Gopi........ (live) in Hyderabad since 1975.
hoose the correct form of the verb given in the bracket to fill in the blank.

1) has been living _ " (2) isliving
(3) lives (4) lived
20. Gopal swam ............ theriver,
Choose the correct preposition to fill in the blank.
(1) over j:} ACT0SS
(3) in (4) on

21. How do you do?
The given expression refers to the function of ............
(1) asking for information 2) an enquiry
(3) asking a question ji} a greeting

22. The silent letter in the word, 'knife'is ...........
v x @ i

(3) f. (4) n
23. Look, how beautiful she ............ (dance). :
Choose the correct form of the verb given in.the bracket to fill in the blank.
jl} was dancing (2) dances

3) is dancing (4) danced

24. She is poor. She 1s honest.
The given sentences can be combined as ,.........

(1} Because she is poor, sheish ) She is poor but she is honest.
(3) Asshe is poor she is honest. (4) She is poor so she is honest.
25. The silent letter in the word, ‘'rumour'is ........coevi
1} last'r' (2) first'u’
(3) m (4) first'r'
268. Mount Everestis......... highest mountain peak in the world.
Insert a suitable article, i .
1) an (2) no article is necessary
(3) the (4) a
E-1 | [5] (P.T.0.)
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(27-81) Read the following passage. Answer the five questions given belou

27.

29.

- 30,

Have you ever heard about an animal called the lemming? You'd never se
a lemming in India because it lives only in very cold parts of the world. Yo
would find lemmings in places like northern Europe, for example, in countrie
like Norway and Denmark.

The lemming is not a very handsome animal to look at. It is small ani
looks rather like a rat. But the lemming of Norway has one strange habi
which makes it very different from a rat, or from any other animal.

Onece in every few years, the lemmings of Norway leave their homes in th
mountains and start travelling. They cross fields and woods and they swin
across streams and rivers, until, after a few months of travelling they reach th
sea. The sea doesn't make them stop. They jump in and start swimming, an
they keep on and on, until, at last, they are so tired that they have to stoj
swimming. And then, of course they drown.

Where do lemmings live?

(1) In India - (2) In Pakistan

(3). In very hot countries ‘/{4} In very cold countries

How do lemmings look like?

(1) Like a monkey jﬂ} Like a fish

{3) Like a cat (4) Like arat

Which lemmings have a strange habit?

(1) Lemmings of Denmark (2) Lemmings of ﬁf.ﬁ'iua
q(ﬁ} Lemmings of Norway . (4) Lemmings of India

“What is the size of a lemming? . :

(1) Small (2) Very tall

(3) Very big (4) Very small .

31. ere do we find the homes of lemmings?
(1) On the plains - (2)
(3) In rivers (4)

In the mountains
In-seas
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82, I......(meet) an old friend yesterday.
Choose the correct form of the verb given in the bracket to fill in the blank.

(1) wasmet {(2) hasmet
v‘f:-ﬂ met _ (4. had met
33. Kapil used to bowl very fast. The word 'fast'isused as a/an ..............
- {1) noun (2)  pronoun
(3) adjective q‘[{} adverb

34. My grandmother reads ........ Ramayana everyday.

Insert a suitable article. /
ﬁl} the (2) no article ia necessary
(3) a (4) an
35. Ramesh............ (like) Physics.
Choose the correct form of the verb given in the bracket to fill in the blank.
(1) has liked ' V(2 likes
(3) liked . (4) ‘isliking
36. Rahul cooks well, ...........7
Choose the appropriate question tag to be inserted in the given blank.
%1} doesn't he? (2) dohe?
(3) didn't he? (4) does he?

37. The silent letter in the word, ‘comb'is.........
(1) ¢ ; (2) o

Vo 4 m

38, ldentify the correctly spelt word.
(1) Auditorium (2) Aaditarium
(3) Aunditarium (4) Audetorium

E-1 : [7] (P.T.0.)
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39. Bahuguna had walked throughout rural India.

The opposite of 'rural' i8 ......e.ee-o. :
(1) town (2) village
(3) city 1 q{ﬁh " urban
. 40, Identify the correctly spelt word. _
(1) aniversary (2 balance
(3) conferance (4} independant

~ 41. Sheis a spinster school teacher. 'Spinster' means ..........

(1) an unmarried man (2) amarried man
0{31 an unmarried woman (4} amarried woman

42, All seats are full.
The opposite of 'full'is .............
/(1) vacant ' (2) half
(3) empty (4) complete

48. Oneshould love......... country.
Choose the correct pronoun to fill in the blank.
g(l} one's . (2) our
(3) his (4) her

44. Find the odd word out from the list of four words given below :
chamber, corridor, assembly, balcony

ﬁl} assembly {(2) balcony :
(3) chamber _ (4) corridor
45, Padma played the guitar, ............. 7 _
Choose the appropriate question tag to be inserted in the given blank.
(1) doesshe? (2) did she? ’
(3) don't she? o4  didn't she?
E-1 [8]
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L Shall we go to a film tomiorrow?
The given expression refers to the finction of ................

(1) help (2) question
(3) invitation i/l[d] suggestion

L Ravi ate many cakes.
Passive form of the given sentence is ...............
vﬁl} Many cakes were eaten by Ravi.
(2) Rawvi gaten many cakes,
(3) Many cakes are eaten by Ravi.
{4) Many cakes were ate by Ravi. :

Choose the correct preposition to fill in the blank.
% 1) beside . (2) besides
(3) at (4) on

' India......... (get) independence in 1947,
Choose the correct form of the verb given in the bracket to fill in the blank.

(1) is getting (2)  had got
(3) gets qﬂl} L got
'-_Thesun.,.,.......lrise}in the east.

! Choose the correct form of the verb given in the bracket to fill in the blank.
:5{1} rose 18 rising

. (2)
[(3) rise v(:i} rises

' _ (9] (P.T.0.)
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Q. Booklet
MATHEMATICS Code

=1

i S\ [ » ne
51. If{, ;1|7 |T|-y [thenthevalueofpis......

1 | 2 - _
[I] : 1][_1 ]' [_1 ]mﬁpbﬂﬁ"m.......mm..

(1) 0 (2) =2
V3 -1 1
52. A wheel makes a 3600 revolutions in one minute. Through how many radian

does it turn in one second?
e o e DDuispd” 360" Bows BRoitan T BE’ 68 Mt ddante.

(1) 36x ; (2) 10x
v'fa} 127 (4) 9m
53. Sum ofthe first 100 natural numbersis..........ccc.....
V(1 5050 (2) 50506
(3) 5O : (4) 506

54. The sides of a certain triangle are given below. Which of them forms a ngh
angled triangle? | :
Borod’ gomes 300 Do GTyow. 6 conl't Bgbet) DG,
(1) 9cm, 15¢m, 17 cm (2) Tem,24cm, 26 cm
(3) 6em,Bem, 11 em, (4) 5cm,8cm,11em
B5. The slope of the line which is perpendicular to the line 5x -2y +4 =0 is........

S5x -2y +4 = 0 mmm@&ﬁwm

(2)

v

(1)

ol Bl
alb b

(3)

E-1 - [10] .
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v The limit of the sum 1+1+lg+i3+""'“"+” T
373 3 -

1+%+§5+3q15+ ,,,,,,,,, pad ~ - 3 L
V{l'.' '3* 2) 0

(3) % (4) "?2
. (1, 3) lies-......cceor.... the region 2x +y 2 3.

(1) on (2) none of these
V{S] outside ) (4) inside

(1, 3) Dotisy 2x +y 23 3P0 EATOY o

(1) oad Doty (2) Dems
V{.‘ﬂ e Spotiniss (4) &%0 Doty

If the product of two consecutive numbers is 56, then the numbers ara
Totis Bikid Hoggw oye 56 SoAD & ;ﬁonxm .

(1) -7,8 (2) 4, id

3) 7,-8 | Jo 1,8

Which of the following graphs mrrespmﬂ to the functions?

300 Tpripred® D2 Slodireio Srdox?

' y-axid
'.m'ﬁ ™

1 i v o

A S
® -0
<D P

| (1) | (P.T.0.)
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80. Two............ are always similar.
(1) triangles (2) trapeziums
V{E] squares (4) rectangles
BOLS cunsnenss 80 JEpED BP0,
(1) Goe (2) " ssseon sastiymes
V(s) sesdves | @) Sgsasigres 2

8L, If m times the m'™® term of an A.P. is equal to n times the n' term, then the
(m+n)™ term of the A.P.1s.......
esoSHEE m 5 BEBt m Bu, 1 D SSCHE 1 B HEMSRSS u@¢5‘{m+n}:';=ﬁu
(1) n ' (2) m+n
J3 o 4), m
62. If Sec® +Tanb = p,then the value of Sind is...........
Sec@+Tanb = p 003 Sinh DEd e
2 2

2 2
p -1 1+p p+1 l1-p
%l} pg +1 {2} I_P:l. |:3:|' Pq_l (4) m‘i‘

68, Which of the following is not a'factor of 2x% +x? —144% —19x - 67
2x% 4 1% —14x% ~19x - 6 B Tlercto TRAY

v & | (2) x-3
3) x+2 (4) x+1
g .
64. Ii"E .;-42 =4 ,then the value of d is .............
2 -4
‘E el =4 ocdd D655 ..o
(1) 6 (2) =7
(3) 6 (4) -6
E-1 : [12]
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65. Foragiven data, the mean is 39 and the median is 38. Then the mode s ...........

w5 Sopotioonn A.M. 39, Soghide 38 el TN IR0 e

-1 38 (2 37

(3) 34 (4) 35

m+n

66. If Secd = T .ﬂfI'E'I'I the ‘FﬂlllE ﬂfoﬂ-E 8 R S
frin

m+n

Sec = o000 SiNG D65 vrreerreen
2Jmn _mﬂ
m-n min
W= @) =
%3} mn 4) mn

x-3, =x>2

67. Let f:R — R be a function defined by f(x)=1{x"-1, -2sxs2,

1+5|:, x <=2
then the value nf'f[—5}+f{3} . C
fedoslodios f:R- R @aﬁﬂmat&mum

x~-3, x>2
flx)=4x"-1, -2<x<2 &b f(-3)+/(3) deus ...vueee

1+x, x<-2

(1) 16 Vi@ -2
30 (4) -6
68, The first term of a G.P. is 50 and the fourth term is 1350. Then its 5" term is ...
¥ RoraBdE’ Daosd 850 50, 4 5 580 1350 woxd u@u{.‘lﬁ‘ﬁ T~ S—
(1) 4050 (2) 40505
(3) 40 (4). 405
E-1 [13] (P.T.0.)
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69. In what ratio is the segment joining the points (4, 6) and (=7, =1) divided
by the X-axis?

(4, 6), (-1, —1) Dotsspeiso 505 Sarpocrty X-eifo Dtidod Jipd?
(1) -6:1 ' ' (2) 6:1

*43}1:& C ) -1:8°

70. ~(pvg)=......

(1) (=p)agq L 2 pv-~g
V® (~p)a(~q) @ (~p)v(-q)
71, The limiting position of a secant of a circleisa .......
(1) chord (2) polar
V{EJ tangent (4) normal .

8 S0 955 T &BB e

Q) (2 gte
V3 Ste 4) ehooely

9
72. The independent (constant) term in the expansion {3:.: - %g } B il

(32-5/.) apeestta 80 50 (350)

(1) -C,3%" : (2)  €,3%
@ 35 Y s

E-1 [14]
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Q. Bookl
odet)| B
S
73. P q
A ' / B
r

Determine when a current does not flow from A to B in the circuit given above.
ﬁl} when p closed, g open, r open
(2) inall these circumstances
(3] -when p closed, g closed, r open
(4) whenp nluaad.qll closed, r closed
B 50, 156° A Sood B 8 D Seponed’ Dissss mulnenss
/{13 P Sarhaiints, g BEUSHtD, r DETHRHE
(2) podysesmod’
(3) pBarissintis, g Sorbodis, r BUISHE
(4) pSariaths, g SarlSgil, rSarinsps
74. If x°+2x* +ax+b has factors x+1 and x—1, then the values of a and b

2+ 2% vax+b 8 x +1 5o0cin x -1 e PirroTes sad g, b o Desded ..

(1) -1,2 ' (2) 1,-2
@) 1,2 My 1,2
75. Anglein a major segmentofa c:irﬂe . s
(1) aright angle (2) none of these
V'é'] an obtuse angle (4) an acute angle
(1) vewsiro (2) Domss
/3) wox e - (4) weiino
E-1 ' . [15] (P.T.0.)
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78. If(x _‘F:][ﬁ ?]m{ﬁ lﬂ},thanthevaiuenufxandyare.,..,..,.,

[.1: }r] [ﬁ i]={ﬁ 10} mmﬂ:,;.-u:mm
J].} x=3 y=1 (2) x=-1, y=-3
(3) x=1, y=38 : -(4) x=0,y=0 |

77. If the three points A(p, 2), B(-3, 4) and C(7, —1) are collinear, then the

valueof pis.............

A(p, 2), B(-3, 4),C(7, —1]Fﬁé&i}ﬁiam;m@p.m,,,.,,,,-....m
vy 1 @ 2

(3) 0 (4) -1

78, The AM, GM and HM of two numbers are A, G, H respectively. Then .......
ot 39 segse AM, GM, HM eo Stissm A, G, Hecas@...ceeernens

(1) H2G2A 2 A2G:H ‘
3 A>G>H 4 (4) A<G<H
79. If|6-9x|=0,then the valueofxis........... 1 Tn 1 ﬁ;/ 2 ;
AT -
|6—9% =0 o0 x D coorerererrrenes & A $
. e * A

(1)

Vi3

-3

(2) 3

2
3

ea|be ba oo

(4)

80. The quadratic equation whose roots are 2+~.|"§ and 2-+3 8.0y
24+43,2-43 EREUE RO et o J—

(IR P, @ 2 edsib
(3) x*+4x+1=0 (4) x*+4x-1=0
E-1 ' [18]
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8l. Ifn(AUB)=51,n(A)=20,n(B)=44,thenthevalueof n(ANB)is......
n(AUB)=51,n(A)=20,n(B)= Hﬂmﬁn[ﬂﬂﬂ}m e P
(1) 76 V(@ 13
(3} 115 (4) 27

82. Let f:R—R, g:R— R be defined by f(x)=1+2c and g(x)=3-2x. Then
the value of 20f/(3) i5......cccvueusuanns :
f:R=R, g:R-R o f(x)=1+2 sbain g(x)=3-2c m 2523 gof (3)

L T
1 0 @ 1n
SRR VR (4) -6
83. Thelength of the tangent drawn to a circle with radius 7' from a point P, which
is 'd' cm away from the center is ..
memmwhhwmumﬁmm
1 P -d? @) Jr+d |
o) JIT 7 @ e

84. The harmonic mean betweena andbis..........
a wolctia b u‘bx;‘;;a'-u’&a! SO0 wurisnssnsrasens

2ab “ab
%1} B3k (2) A
a+h. . - a+b
@ Zab @ e
85. C.P.U.standsfor............. . ‘
CPU.sv.........
(1) Control Processing Unit (2) Calculation Processing Unit

(3) Computer Processing Unit U'{-il Central Processing Unit

E-1 : [17] (P.T.0.)

www.sakshieducation.com



B7.

89.

www.sakshieducation.com

- Q Boskier|
Tan (180+8)=............
(1) -Tan® (@ —Cot8
(3) Cot@ ' . q{d.’l Tan@
Ifp:2is e;van, g:2 ial prime, then pAq @ ..veciiiiieeen.
(1) 2iseven but not prime (2) 2is p::ime but not even
(3) 2iseven or is prime - q(':i} 2 is even and is prime

p:ELIﬁbﬁms,q:Ew:&m;Eu;‘aﬁa PAT §sciniali s
(1) 2 el 500w SO0 B Hopg ¥ (2) 2 o3 @S0 Sopy Mobdia HOBopy T
(3) 2ebibtes; Tor 2 B dey; vfd} 2 .8 33005eg; Saloliso (SeMS oy

X+¥, =¥ X—3¥%.ccconnnnee IN AP, The common difference is ..............

THY, =¥, T=3Y rrrenn. SoEGE Sroble ...

(1) 0, (2) —dy

(3) 2y : ooy -2y

If the bisector of an angle of a trianlgla bisects the opposite side, then the
triangle is........... |

(1) scalene (2) right-angled ;

(3) equilateral qé} isosceles |

@ME‘H Eelpotss Ty DS §herd, S5o8metin 35 & [BEe e rrraee:

(1) Dissoein (2) oous'e |

(3) somie ) sssongire

If 3*+* = g**1, then the value of xis .............
3543 = g7 et x DK v

(1) -1 2) -2
(3) 0 : 4 1

[18]
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81. ArelationRis.........,if (x, y)e R'and (y,z)e R, then (x,z)e R,
1) transitive (2) all of these
(3) reflexive (4) symmetric
(x,¥)e R sobass (¥, 2)e R eciipto tx,z]ER -V TN S
oD sogsseo (2) P
(3) Sovsgse . (4) o
92. Which one of the following is a scalar matrix?
B B Sl wdw (scalar) sm@s.

0 1 ‘( 2 0 1 0 0 2
Wily .a D lo- 2o SEEP , (@ |, ﬂ]

93. A histogram consists of .............

(1) triangles v (2) squares
* (3) sectors | V'/[-l} rectangles
(1) Etoees (2) St
3) pses Vi) Sgssnes
94. Find k in order that x® - 3x* + 4x + k may he.ek&cﬂy divisible by (x -2).
x? -8x% +dx +k W (x-2) Hem A3k Jos ... “ﬂ"ﬁtﬂm*"rﬂ*ﬂ-
(1) 4 Vi) — E,w-ﬂ*ﬂ Ty
3 0 4 1 e R $lezo
95, IEJ’:a’E*%.thenthe;raIuaufaﬁ‘—ﬂy I8 ik i€ i =-78.
g+ W8
¥ =’E"'§+§§ wcasd 392 — 9y L E—
(1) 9 (2) =10
V(3 10 (4) 0
E-1 [19] (P.1.0.)
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96. The line y =mx +¢ meets the ¥-axs at the POINL .oveirnrarsens

( (0, -¢) @ (- 0)
V@ (0,¢) - 4 (e, 0)
97. Which of the following is not a function? -
L!:n&:ﬂ::ﬁ‘gsﬁmlr;n.

W fi={(-1,1), (-2, 4), (0, 0), (1, 1), (2, 4)}
@ fi={01), (22,69 &)
@ fi={(1 2), (2 3), @ 4), (4, 5)}
vin ={12), @ 4), 25). (. 9)
98. The radius of a circle is 14 cm. The angle subtended by an arc of the circle
at the center is 45°, Then the length of the arcis ............
w5 50 TR0 14 Do.ko, AD6% c¥ e foitio 55 450 e Bh & e ey ..o
V{ 1.} 11 cms (2) 13cms
(3) 10cms (4) 12cms
99, The value of |2x —3| <7
2% -3| <7 mmﬂ
(1) 25x<-5 J2 -25x<5
(3) 2=sx<6 (4 -2<sx=<-5
100. The mean of 10 observ a_tiuns iz 16.3: By an error, one ob sérvatiun s
registered as 32 instead of 23, Fiﬁr.l the correct mean.
10 sofsne Shes 16.9 . eoke Deod 23 3 afes 32 e Bim Erabnded. S0
s D007
ﬁl]' 15.4 (2) 1563
(3) 16.4 © (4 155

E-1 . 1l
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Q. Booklet B
i PHYSICAL SCIENCE Code
101. Correct order for electron affinity ofhalogensis ............co.....
j]} Cl<F<Brel (2) F<Cl<Brel
3) Cl>F>Br>I . (4) F>Cl>Br>I
102. 10% sodium chloride solution means........cc.......
(1) 10 gram NeCl, 10 ml water ) 10 gram NaCl, 50 m]l water

(3) 10 gram NaCl, 90 ml water f4) 10 gram NaCl, 100 m]l water

10% 2Féctive 5DE HOERSENNIS ST .ceorreeceens
(1) 10 grsase Hdabe 5B, 10 Da.b, b
(2) 10 pricon Hdctvo 5B, 50 Db, o
(3) 10 prise Fdcbo §oe, 90 do.b, b

4(-1}-' 10 grise Hdaio 5o, 100 bo.b. b

108. Which of the following do not have a x bond?
Bol 38 1 ot BT '

(1) €O, (2 BeF,

(3) O, ' 4 N,
104. Identify the substance which is not ionie.

IS SIS T, : g

(1) CaCl, V@ Becl,

(3) BaCl, . ' (4) MgCl,

L

105. The correct equation of motion in case of a body projected upwards is ........
(initial velocity u, final velocity v, acceleration g, time ¢, maximum height k).

B3 D035 S DRoeE T He ShONEIENED 1 uveeereseens

E&ﬁﬁuu,mﬂm v, Gglirssion g, Toiias ¢, NO{OGg h)
(1) h=Yog? (2) v¥=2gh
(3) v=gt - (4) w=gt

108. In progressive waves with equal amplitudes, the distance between first and
fourth crest is 60 cm. The wavelength of the wave s ..........

RIS Yol 30Istoes Mo w¥ HEMIL Busled® Buiil, Teoitd Home Dol SIS
B0 R0, ool e Blico dlas, BUoR BRI s
(1) 30 cm (2) 60cm 3) 15em. o) 20em

E-1 : [21] (P.T.0.)
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107. In a uniform circular motion, the following remains constant.
(a) radius (b) angular velocity (c) time period
(1) only (a),(c) are constant 2) {a),(b)and(c) are constant
(3) only (a),(b) are constant (4) only (b), (c) are constant
S50 PO Deisitend’ Htom dotiaisd.
(a) ornggaa (b) Sedan Simsoo (€) eassgd esw
(1) (a), (e) o Smisdo Jt5soo V2 (@), (b), () oo sants s
(3) (a), (b) oo s s (4) (b), (c) @0 s fpthsas
108. The ratio of acceleration due to gravity on the surface of earth and moon is
Nearly .......cuusennrsnes .
G Botas &, Solfiod Dol Emmmmw
(1) 1:3 (2) 3:1 '
4@ 6:1 (4) 1:6

109. Revolutions per minute of a wheel is 1200, If the wheel travels 3000 m in
5 minutes, then the distance travelled by the wheel for one revolutionis...........

(1) 2m P (2) 4m

@ 1m J@ Y%m

RY S0 Dol 1200 pssrres Seh. § Jlodve stodived’ Sige 3000 Do, oreiy
eH S0 piorrnd S BSalreletc Srte .. ki

(1) 25 @ 45

(3) 15on J4 Yl

110, False statement about p orbital is ....c..cuuessnne.
(1) I value for p orbital is 1
(2) p orbitals lies on three axes depending.on orientation
(3) energy of subshells of p orbital is same in presmm of m.agnahc field
(4) porbital is present from L shell
P espE o Horofod Tefad PRB ..o
(1) pesturdldassl
(2). p estyprdos HliFrgio p upPEHd St eped’ dcwron
q‘{ﬂ] eoolm o oo At p Gk, ShE N0 ¥ SNrNie
(4) L syt dood p wlhurdos doiron

E-1 - : [22]
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During the electrolytic reduction of MgCl,, coal gas is passed over floating

magnesium. The reason for thisis ..

1) toincrease reduction and mudahpn

(2) to prevent oxidation

(3) toremove impurities

(4) to prevent reduction

Mﬁtﬂa@mfwwam E‘Ea-ﬁu:ammmm
(1) gouutee, el itine Soiretnsts 5t

(2 editme Dmoetst:

(3) Sobmron Sofotow
(4) ZoiEGrae -‘:I-‘J'ﬂﬂ:hﬂﬁ.i

112. Example for the triple bond moleculeis ..
(DY soio ot Bruh SO ..
(1 co, dﬁ!} CoH,
3) 0, . @ HO
113. If the lids of the bottles A, B, C are opened, the acid in B vapourizes quickly.
The acid in A vapourizes very slowly and in C it vapourizes slowly. Then the
acids presentinA, B, Care.............
A, B, Chiro srbess Bisspiis B 6% eiioo Bitim 60 wosed. A 67 wie o Riotm,
C &%) eisoo dasdm udB s A, B, C of' soth eisPus ............
(1) HCl, CH,COOH, H,S0, V(2 CH,COOH, HCI, H,S0,
(3) H,50,, CH,COOH, HCI 4) H,S0, HCl, CH,COOH
114, One of the following substances which is not an aliphatic hydrocarbon is ...........
1) Benzene (2) Ethane
(3) Ethylene _ (4) Propane
B e b .. |
q( 1) Beds - (2) S4B
(3) 5205 (4) P8
E-1 [23] ! (P.T.0.)
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115. Half-life period of a radioactive substance 1s 5730 years. Time required by
it to become 1/16' of its initial massis .
(1) 28650 years / (2) 2292(} years
(3) 11460 years (4) 17190 years
ey BaaP :p-a;!nu-gagé:am 5730 st ores oo 80 a:»sms‘mﬁammm
(1) 28650 o1 (2 22920350
(3) 11460 Seun U4y 17190 3¢
116. The atom to be doped into Germanium atoms to form a P-type semiconductor
TR y
(1) Silicon ; } Phosphorous
(3) Antimony 4) Indium
P-tHo olmrirte Dt Bldie Soirtupel rbiine Sobbonh Slrnipe
(1) »Bs jﬁ;l e
(3) esodddaod 4) ol
117. If the length and aren of a cross section of a copper wire are doubled, then its
specific resistance ...
(1) decreases to V4th V‘[EI remains constant
(3) increasestwo times (4) increases four times
ohd BaPRhE O DEPEe SofiTht et Tudoip Wenipls w B Gl 295
(1) /43 Sebs biige qé} 2OET Soewsd
(8) Toks Tess Dsrsiss (4)  rost D DR
118. A wire of resistance R is cut into 5 equal parts ancl then the parts are
- connected in series. The resuitant resistance is ..
R 5850 e 1.5 St b sdogrmeam Sgidod il éﬁé‘ﬂm&:uﬂ SDE DEEE e
ViR @ =
b
o :
(3) R _ | 4y BR
E-1 [24]
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119, Which of the i‘nll-:'-wingis used as an application of coating of gold on brass metal?
(1) Fleming's right hand rule (2)  Ampere's law
(3) Fleming's left hand rule ‘Aqr Faraday's law of electrolysis
3BE Srhas D Loy WD Yraianag Bed A AN eongta?
(1) ook BAI0 Dol (2)  escbafel Hamaone
(3) DwefiIeme Do Juoin v(ﬁ FORD Dhdrs Salahena
120. The valency ba.nd of a semiconductor is completely filled with alectmns
at this temperature.
ma#magwmﬁhmnﬁhg&mﬂwmﬁm.
(1) 273K (2) 100K
(3) 273°C . . V4 -273°C
121. *®*Po belongs to this radioactive series.
1} Uranium series - (2} Actino Uranium series
(3) MNeptunium series (4) ° Thorium series
MWPo Burulisen ¥ SAGMPOE D Hedd Bonefolna.
ﬁl} ctadioaioe fed T (2) et ansdaie @
(3) dypgoco @t ; (4) Focwo et

122. Correct order of ai&ctruma@,et.ic waves with respect to wavelengths is...........
(1) Infrared > X > y > Ultraviolet . /(2) Infrared > Ultraviolet>X> ¥
(3) Infrared > X > Ultraviolet > ¥ (4) Infrared > y> X > Ultraviolet

(1) Soboes > 25, > i S wdbe 62n0 (2) m}uabuﬁ'::-mag}m
(3) Mmhai_}}uﬁbuﬁ‘ﬂ}m (4) Sortees > e > I8 > wdde &iro

123. "Ampere-meter?! is the unit for ...............

(1) intensity of magnetization 2) magnetic susceptibility
(3) pole strength : (4) magnetic moment
tesoaB-oeb? ADS RIeEar s
(1) ecitdmedite bpo (2) oo Snnbid
(3) Esste S edidcn g
E-1 - [25] (P.T.0.)
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124. Find the true statement :
(1) 'g' value on the sun is less than g’ val
) mass of the substance depends on g’

Q. Booklet |

ue on the moon

3) At the center of the earth, weight of the substance =0
(4) At a height equal to the radius of earth, g =0

ot Tl Sigtan :

(1) soetemp g’ Dess SelEsdp 'g' Duss Yol bind

(2) Sig ;o2 g’ Duotd D esgroniis
v’fa: gir B 58 iy Pt = 0
(4) o0 TpEsass BRPENS J8y 558 =0

. 125. Deodorant soaps contain ...............
1) Na*salt (2)
j (4)

3) 3,4, 5 tribromo salicylanilide
m:&:.&mm:amm (o=t Lo S
| 2)

jll ._M:* oiSrata
(3) 3, 4,5@@‘:.:-5-5:.-.3@@ (4)

free stearic acid
K* salt

Py taco0B esisaiia
K* voeidx

126. Chromophore in ®_ N=N _®_ NH, MBS cvagadi

(0N =N—<0)—NH, & ¢35

Y N=N (2) —NH, .
@ {0)—N 4y —<0)—NH,
127. OH This structure indicates the ............coceos |
4/ (1) Paracetamol
(2) Aspirin
(3) Insulin
. (4) Brufen
NH C-CH,4
Il B4 DOEAE00 BP0V Lervssesapessasiens
“ S Fobuars
(2) MWxs
(3) FandS
(4) @
E-1 (28]
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128. Nylon 6, 6'is used in ....o....coorennn. |
'l 1) making gramophone records (2) making bristles of brushes

(3) making raincoats .. (49 makinginsulators
e ST L R ——— ' _

1) 535 atges ool (2) e Basetts BaIPS
(3) w5y bard (4) DS wepmes Baird

129. The number of carbons present in the mixture of hydrocarbons present in

petrolis ..o

(1) 104015 : (2) more than 15
(3 5t0 9 " (4) 1to38

S 10350815 (2) 15 %ol Dy
(3) Hrwed 9 (4) 18sesd

130. The qua'nt:um number that explains the orientation of electrons in orbitals is

Jl] Magnetic quantum number (2) Spin quantum number
(3) Principal quantum number (4) Azimuthal quantum number
wiurd 6" Je o EiETsiesie JH8e: TR0 BORy .
Iv{u GO THoLO How; (2) !gSsgmnﬁa.pE :
(3) Ber Tyowo bogy (4)  edBubd Tewo oy
131. The weight of oxalic acid required to prepare a 100 ml, 0.1 M oxalic acid
solution is ........... :
(1) 252 gms : qf(ﬂ} 1.26 gms
(3) 0.4gms : (4) 1.06 gms
100 5.0, 0.1 M exmyDvisios Sttt Satkaoests Tioels emmDess grbos ..
(1) 252 v J@ 128
(3) 0.4, (4) 1.06 gr.
E-1 [27] ; (P.T.0.)
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132. Which of the following is true for amino acids?
(1) They are ionic substances - J-EE} They are covalent substances

. (3) Melting point is very less (4) Do not dissolve in water
(1) 30 ecirds Sorges Jfﬂ} W Sodrel Sorges
(3) Dl hersss so e BED (4) 0 M6 D
188, BIOMiNe o..ovecerssssesioosionses

(1) does not dissolve in water
(2) does not have electron affinity
JEJ is an alkali earth metal .
(4) participates in substitute reactions slowly

el
(1) D& s | (2)  Dogs v e oo
(3 PO Sl St 4) s Sed it 28wl

134. In an ideal transformer, the number of turnings in primary and secondar
_coils are 100 and 300. If the current in the primary coil is 2 amperes, then th

current in secondary coil is ...

V(1) 0.66 Amp (2) 6Amp
(3) 1.5 Amp (4) 1/6 Amp .

£ esith poy e BE (Snplol, s Bigretion 60 O toge Sep; 100, 300. ey Sy
V(1) 0.66 e @) Bue

(3) 1.5we (4) 1/6ess

E-1 (28]
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|85. In an experiment of finding the diameter of a lead shot, a screw gauge with a
least count of 0.001 em is used. The pitch scale and head scale readings are
found to be 1.8 em and 20 respectively. Then the radius of lead shot is .........
(Error free screw gauge is used).

0.001 e.5s, ¥l Tt ¥OS 5om, et adirfiod S5 oot Tige Bl Barfkus’
b5 S BAcR, ol e Sdafles susym 1.8 o, 20  Kdoortl, soxd L oty

Tpgtos (B i oo AN ABAINoTAD etiefRion )
1) 0.91mm (2) 1.82mm
‘/?33 0.91 em  (4) 1.82cm
136. Generally, the orbital velocity of an artificial satelliteis ..................
(1) >11km/sec Jz} nearly zero
(3) 8 km/sec to 11 km/sec - of(4) <8 km/sec
(1) > 11 &30/, (2) oompinem
(3) 842 5. Soed 11300/, vé} <8 &.bo.f%.
187. In ordinary light, 'optical noise' is because of ..........
{1} monochromacity =) lack of coherence
(3) coherence (4) high intensity
Sncrtics So0E it B 308 Sl HuiS DR e
(1) 2y sbain Vf 2)" wibont
. (3) Howiss 4) woEbpe
138. Mass defect of helium nucleusis..............
/(1) 0.0304 amu (2) 0.137 amu
(3) 4.0330 amu (4) 4.0026 amu
1139, In a television receiver, channel selector means a/an .......coecen
} demodulator (2) receiving antenna
3) resonating circuit (4) amplifier
(1) dupusdeb C(2) oy woly
V(3) potedie : 4) masee
E-1 : [29] (P.T.0.)
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140. The elements with electronic configuration 'ns! to ns? np® are .
(1) transition elements 2) inner transition elemanta
(3) inert gases (4) representative elements

'ns! 2vod ns? np® o’ _:ulg_rs DPeiaio SDAS SaPemes ...

(1) SESG Saremw ' (2) oot SOLES Suroes
(3) &b mdioges . q{-ﬂ PrORG, Soromed
141. When phosphorous pentoxide is dissolved in water, it produces.............
(1) phosphine (2) phosphorous trichloride
V'(B} phosphoric acid . (4) phosphorous acid _
(1) s - (2) Py oo
(3 P (4) st eiboo
142, 'Tollens' test'is the characteristic property of .............
) ester (2) ketone
Jg] aldehyde (4) ether
“5'05, 58 80 et stpe e, '
(1) it (2) 3s5%
ﬁ'ﬁ} esfipdie (4) L

143. The substance added to glass to impart a purple colour .............
el SeCmUolD Siinils SolSHon Somaiw ...

(1) Cu,0 ,,(z} Mno,
144, The ............... agueous solution do not contains ions.

(1) Sucrose solution - (2) CuSO, solution

(3) NaCl solution (4) NH,OH solution

ecirion dolll) Bo [DrScIao.

1) 3998E o e (2) CuSO, mo e

(3) NaCl ee et (4) NHOH o ook
145. 1 [;rauss = O -1 - -

(1) 104 (2) 104

(3) 0.39 x 104 (4) 039x10¢
E-1 [30]
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146 BP° N8+ vininnans -

(1) beta particle (2) gamma ray

(3) electron ql’(‘” positron

WP B i,

(1) berSme (2) mae ee

(3) dogs @ s

147 The time period and length of a 'seconds pendulum’ respectively are .......

Dve Slofit i, Semings T, PEPEs DU ..cc.vevvnen.

(1) 2sec,1em (2 "2sec, 100 em
(3) 2cm, 100 sec (4) 2m, 100 sec
148 ] Lumen = ....cceen. ‘
1) ergfsec/steradian (2)  erglsec/steradian/candella
(3) ergfsec : {4) ergfsecicandella
SE I -t T -
(1) 2B/ua5 88008 @) 2B/us5/0a0mE [roder
(3) 2f/u5 | (4) 2f[ouS/mede
150 urvalue of mftiru.n s
(1) »>=1 2) =1°
(3) <1 4 =1
In the Periodic Table.,. .............

(1) right side elements are weak oxidizing reagents
(2) right side elements are strong reducing reagents
3) left side elements are strong reducing reagents
(4) left side elements are strong oxidizing reagents
(1) £E35% o Saropes welms el

- (2) ARG Ne SaroTon noR Job¥tico

v/f 3) SESe B e Saremes meloh Solbilreos
(4) Deso Py e Boromes teds el e |

k-1 [31]
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